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< 102,707
Al 87,598
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OIS EXE AL
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Al 87,598
KNSR LE S S22 71,400 66,600 4,800
= 21,420
Al 49,980
301 EtE N = 71,400 66,600 4,800
= 21,420
Al 49,980
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71,400,000 71,400
== 21,420
Al 49,980
NS XEHE SAG HRIHAH| 33,000 31,800 1,200
= 33,000
301 Eet2 NS 33,000 31,800 1,200
== 33,000
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OXNSA2HE SALAF M|
33,000,000 33,000
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= 10,095
Al 11,731
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Al 62,989
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Al 62,989
11 ARRIS XA E X 102,673 128,550 N25,877
Og==5RX XA 102,673,000 102,673
< 30,684
Al 62,989
ANE3XE= 31,620 0 31,620
= 30,600
== 1,020
307 el2to| & 31,620 0 31,620
= 30,600
< 1,020
11 AMEISXAIEEXS 31,620 0 31,620
Ooxgdsids 31,620,000 31,620
= 30,600
= 1,020
HH2IJH(SXEHL) 499,769 461,318 38,451
= 216,000
< 37,800
Al 245,969
olE2gdl(2zs0) 443,937 390,594 53,343
= 216,000
== 37,800
Al 190,137
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= 216,000
=S 37,800
Al 94,847
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[ 165,571
= 28,975
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SN ST
M HYRAZH(SXFHL)
ool QIARAHI(E30) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 12,418
O2za02eIAt SR AAHI(AIHIFIH
78,647,000 78,647
04 HSRESS 63,036 63,036 0
s 50,429
== 8,825
Al 3,782
M BRA(RIAHY) 22N EE2RE=s S 63,036 63,036 0
O2A2S02IAL 4 Al2l2E2RES
63,036,000 63,036
s 50,429
s 8,825
Al 3,782
Atdl2te] MEHA R (REAI) 95,290 53,500 41,790
101 @124H| 95,290 53,500 41,790
03 SR (RINHA) 222+ 95,290 53,500 41,790
O2dasW2e|Ab I &H 54,680
—EE230Hl
3,000, 0002 7 & *23| 60% 25,200
— %X 140,000 7 »10! 9,800
— g 140,000& 7= 123 11,760
—JtE2E 310,000& 122 3,720
—doi+g 50,0008 7 * 12 4,200
SIZSHACIMN EIRS
40,000,000& *1& 40,000
O22s02cAt JEENTT S22 & 7
AE X2 610
—SZIH 110,000 %1 110
-S43 500,000 1 500
=238l 55,832 70,724 A14,892
JI23Hl 55,832 70,724 A14,892
201 et 3| 35,192 40,868 N5,676
01 AtR2te|Hl 20,736 19,872 864
ORA2gII=23H| 20,736
—2ot=2H| 40,0002 x24H«122+0.8 9,216
—=4| 50,0002 x242H*122+0.8 11,520
02 S3=gHl 14,456 20,9% 26,540
OoRERe3 14,45
—SJIFH 3,276,000 3,276
—gpted 11,180,000 11,180
202 04l 17,280 26,49%6 29,216
01 =LHA LI 17,280 26,49% 9,216
Oge=dII20H|
120,000 x24&x12&+0.5 17,280
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SN =NE
B #EAAY| (SXEMY)
s Jl=dhl (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
203 PRF=&H| 3,360 3,360
M 2GR FALI 3,360 3,360
oL NE-EEESST
350,000& x12&+0.8 3,360
MRS (=X 9,149,414 9,257,744 108,330
LHEHH K= 9,149,414 9,257,744 A108,330
OIS SHIIEISEEH dME2 9,149,414 9,257,744 A108,330
701 JIEII HENMEZ 9,149,414 9,257,744 A108,330
01 JIEtSIHEEZ 9,149,414 9,257,744 A108,330
OlZ2=0HEESH &3
9,149,414,000& 9,149,414
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